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(1)Global migration today is the result of the increased inequalities between rich and
poor, combined with environmental destruction across the global South. [A]People are
moving in response to economic circumstances. [B](2)These circumstances are largely
determined by trade patterns. [C]Since 1945, free trade, long advertised as a solution
to poverty, has brought great wealth to many. [D]However, many more have been left
behind. Today billions still live in conditions of severe poverty. Many are
unemployed. Without the intervention of the United Nations, (3)this pattern will
continue, and things will get worse.

慶応大学経済学部

設問１ That is to say を補うとすると、[A]、[B]、[C]、[D]の内のどこか？

設問２ 主張文に下線を引きなさい。

設問３ テーマを抜き出しなさい。

（ ）

設問４ 下線部(1)を和訳しなさい。

設問５ 下線部(2)These circumstances とは具体的にどの様なことか。簡潔な日本語で説明し
なさい。

設問６ Which of the following best explains the underlined words "(3)this pattern"?

１．Accelerated international migration has led to massive unemployment and global
poverty.
２．Free trade has caused inequalities and environmental destruction, which has led to
migration.
３．Global inequalities have caused environmental destruction, which has led to
increased migration.
４．Severe poverty and widespread unemployment in the global South has resulted in
increased global inequalities.

Notes
combined with A ＝ and A
trade patterns ＝貿易の形態・やり方

＜原因→結果＞
「Ａが原因で、結果としてＢを引き起こす」
A result in B / A lead to B / A cause B

＜結果←原因＞
「ＡはＢの結果である」
A is the result of [from] B


